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tix::btree_multiset vs std::multiset vs std::unordered_multiset -- Insert Performance Test

T T T
container=tlx::btree_multiset<4>
container=tlx::btree_multiset<8>
container=tlx::btree_multiset<16>
container=tlx::btree_multiset<32>
container=tlx::btree_multiset<64>
container=tlx::btree_multiset<128>
container=tlx::btree_multiset<256>
container=std::multiset
container=std::unordered_multiset
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tIx::btree_multiset vs std::multiset vs std::unordered_multiset -- Find Performance Test

T T T
—+— container=tlx::btree_multiset<4>
—— container=tlx::btree_multiset<8>

container=tlx::btree_multiset<16>
container=tlx::btree_multiset<32>
container=tlx::btree_multiset<64>
container=tlx::btree_multiset<128>

—®— container=tlx::btree_multiset<256>
—&— container=std::multiset
—&— container=std::unordered_multiset

16
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tix::btree_multiset vs std::multiset vs std::unordered_multiset -- Insert/Find/Delete Performance Test

T T T
—+— container=tlx::btree_multiset<4>
—— container=tlx::btree_multiset<8>

container=tlx::btree_multiset<16>
container=tlx::btree_multiset<32>
container=tlx::btree_multiset<64>
container=tlx::btree_multiset<128>

—®— container=tlx::btree_multiset<256>
—&— container=std::multiset
—&— container=std::unordered_multiset
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tIx::btree_multimap vs std::multimap vs std::unordered_multimap -- Insert Performance Test

T T T
—+— container=tlx::btree_multimap<4>
—— container=tlx::btree_multimap<8>
container=tlx::btree_multimap<16>
container=tlx::btree_multimap<32>
container=tlx::btree_multimap<64>
container=tlx::btree_multimap<128>
—®— container=tlx::btree_multimap<256>
—&— container=std::multimap
—A— container=std::unordered_multimap
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tix::btree_multimap vs std::multimap vs std::unordered_multimap -- Find Performance Test

T
container=tlx::
container=tlx::
container=tlx::
container=tlx::
container=tlx::
container=tlx::
container=tlx::

T T
btree_multimap<4>
btree_multimap<8>
btree_multimap<16>
btree_multimap<32>
btree_multimap<64>
btree_multimap<128>
btree_multimap<256>

container=std::multimap
container=std::unordered_multimap
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tIx::btree_multimap vs std::multimap vs std::unordered_multimap -- Insert/Find/Delete Performance Test

T T T
container=tlx::btree_multimap<4>
container=tlx::btree_multimap<8>
container=tlx::btree_multimap<16>
container=tlx::btree_multimap<32>
container=tlx::btree_multimap<64>
container=tlx::btree_multimap<128>
container=tlx::btree_multimap<256>
container=std::multimap
container=std::unordered_multimap

— R e — o A A . : - -
e S - 2 2 A 2 - T i i i i
8 10 12 14 16 18 20 22 24

Item Count [log_2(n)]

26



